
DIHYBRID CROSS (Include this page in Portfolio #2)
A homozygous Brown-Hair Ruby-Eye rat is mated with a

homozygous Gray-Hair Brown-Eye rat.
Parental Information:

The genotype of the homozygous Brown-Hair Ruby-Eye rat is __________.  What is the genotype of the homozygous Gray-Hair Brown-Eye rat? __________  The Brown-Hair Ruby-Eye rat will produce the gametes _______.  The Gray-Hair Brown-Eye rat will produce the gametes _______. 

F1 Generation Punnett Square:
	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


The genotype of each F1 offspring is ______________.  That means each F1 offspring produces gametes that have the genetic make-up of ______________ .

F2 Generation Punnett Square:
	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	

	
	
	
	
	


How many different genotypes are there in the F2 generation? _____________, How many different phenotypes are there in the F2 generation?_____________
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